EARAROBREBRT —5 XN—ZXBISH—F

20224678188 (B) 4EIEfl1H

12R AR l=r&spLi

C3 5K

\(9&1@1 n ‘[%EH%F&] ~ | 5 o000 =

[AE%] 17 :1,400,000 § ~ 237&:490,000 @ . 37&:280,000F  435:210,000 @ . 5 & :140,000 M

IR RESS /M 3 BF (F8) |94L (B% | @BIEG | L3F S | AT | #E | A% FB) / BE / £E%S
S &Y 6 | THHBREB 2:13.3 4-5-4-2 |39.2| - 3 45 | FLLER CER)
11810/ WL E #55.0 =) 1) |HERES
RiFvyvH/Ft+ B:4XZITVT— IHBZT7—L
== Ty 6 | EHE 2:13.8 3-4-3-4 | 40.0| -— 1 456 | /\AES (&)
21719 | TIWST % 56.0 2 1/2) (-2 |*ZEAtE
R:O0—RKRAHFO07 B:S5SU—IV (B) H8I1-—RL—YavEEIT 7
3 w > 44 | SEFT 2:14.3 1-1-1-1 | 41.8| — 4 | 477 |EO—R CERD)
3 3| Y=Ly hF7 56.0 2172 1 | B J PNz
R:U—=FHISDY B:OIV/Z0Y NE #REg
= B8 | AVMRIE 2:15.6 8-7-6-6 |40.9| — | 10 | 460 |EEEF— (&)
41811 =39Y *50.0 ®) ) |18 FuFATNR
R:TUA=Y B:FIPIAXSY NIAHRFT=TIL
L5 t 4 | BES 2:15.6 7-8-8-7 | 40.7| - 7 43 | FEES GER)
5 4 kRS2 54.0 (1) #5) :IISEiEE
RIXAYIDYLYY B XAV 3vTU7 e
T 22PN :15. -2-2- . - INAIRES (GFD)
6178 | TAYYFINU— 450 2(71'?:)7 pa | 8.0 ’ (4+215; TETIEF
RiIAYVeEDY BIIAIVAAT SERIS
= sy [ZNEE 7. -9-9- . - FLES GAEf)
- 7| FYaAIRAT p— 47 56.01_ 2(167)0 9-9-9-9 | 41.9 6 (4_714) i
RiFA IR v— Biky bR )b PAZAT7—1I
~,5 BT : -3-5- - HimE AR
8 6| PILaVYF— 4 5 Bl 2(.11/72.)1 10-3-5-5 | 43.6 8 (:1??) B‘EEB%I
RiW—=>—yvF B:UF1FRAY—=T BEERIS
S ~ 4 6 | BAITHIA 2:17.2 6-10-10-10 | 41.8 | — 5 493 | KEFESE (T
9|5|5|ZYF—TEY 56.0 /2 o |XEZ
Rib—LUKRILURY B:ZRFEY RIS
— s 5 | FERES 2:17.7 5-6-7-8 | 43.0 — 9 460 |JBH—R GEF)
10 2 PXYIUVAAB 54.0 2 1/2) +6) ) JA—I—K—ILTF1 VTR
RiZAIJU—rbe—0O— B:7ZIbu—)b BRI 7—L
— = s :18. -11-11- . - EBEHB (A
1l =y/aoxq 44 e 2(138)4 11-11-11-11| 42.5 11 (4:124) Emnz
R:ALYISvoel BA—ZNILITTR /=YY T7—1I
@ 1—F—&RIEL
13—7— 3,8,9,10,2,5,4,11,7,6,1
20— — 3,8,6,9,10,2,11,4,7,5,1
30—7— 3,8,9,10,6,11,2,4,7,5,1
451—rh— 3,10,8,9,6,11,4,2,7,5,1
0 ILRE
BB 10 600 JA R 9-10 330 % 3E 7-8 5804 3EE 3-9-10 1,510
B B 10 200 3-10 640M (=1 8-7 1,560 3EH 10-9-3 10,680/
9 140/ 3-9 400 5 & 9-10 7708
3 190M =51 10-9 1,940

ABIC OV TRUTEREERRODDZE. THRIIZEL.




